RigSEEH

S T

RG]+ K3

R SR FR-f#EE E

B 1S 1IE BT R 5




ES LT S

=
¥EW4 (R KSR - MR EREEHRFES ES i ARG
IH H I
THE - T - R - B Hiks HAAL iy Bl &FA B - BEHER T
I
=, 1
HiE GRRHERS)
= 1
e
= 1
frae A
WS 1
RITRIEREFT & Wit N 25
= 1
B R
= 1
B KR
=, 1
JE B EEAmER
= 1
TERAE ERREF #iR1/1, 000 T
(km) = 0.3 )1
[ERES T
=, 1
RS ¥
= 1
Vi3 GSiE
= 1
ety (GRE E-fE 1A i) N—
=, 1

5
I
N




ES LT S

=
¥EW4 (R KSR - MR EREEHRFES ES il T REEEER
I8 H [EEESES =
THE - TFE - FER] - A0 s BT =X Ko 2| B - SRR e
B AR SRR
&
R PR A TR B (BT WERSER B, POk et UL MaEt
"
BRI (F o AtkRE< )
.
= OLEAT N 45
=
— W B N 5%
=
BRE S
.
THE PR 2 %A
&
R ES LR
.

5
I
N




\ = = i 4 A 2024. 06
1 /j{ WﬁR = A A A 2024. 06
Ao AL SR A7 F
v F S IREELR R 1. 000-00000 0.0 0
1 |FE
— HAAT B &A L
" N 65
B0
N = HAf st 4 A 2024. 06
1 R IjTJ: == SEEE 202006
H M TSRS 1. 000-00000 0.0 0
77 AR TE PR . - .
N 2R BICRHEREFT B Wit
R R B BT & e HE i ff s W
H 15
FERS - [|]
a5
7oL I I




— $ BAAMmE FH A A 2024. 06
1 ¥ j< WSR I A A 2024. 06

H = PSR EEAR 1. 000-00000 0.0 0

W ge | EEEERE #g)R1/1, 000

SRR - Bl % HAAT B B &HE SE

FR AT M OV 15 W T
(km) = 0.3 )1

Lk A N 8E
(km) = 0.3 )1

ST - MEWTER R N 9B
(km) =X (0.3 )1

FRWTE R N 105
(km) = 0.3 )1

B WA AR - IME SRR No1lE
(km) = 0.3 )1

e M1z
(km) =X (0.3 )1

BB hoE
(km) = 0.3 )1

R Ay W 145
(km) = 0.3 )1

WA EER N 155
(km) =X (0.3 )1

Gt

|
.

|
5
I
N




— $ BAAMmE FH A A 2024. 06
1 Db\ Iji] SR I A A 2024. 06
H = PSR EEAR 1. 000-00000 0.0 0
LW - B % HAAT o B &HE SE
EENFE GRRIEED)
= 1
o/ 1—a)
%
Z DAt
= 1
Gt

|
(2]

|
5
I
N




\ = 110 I 2024. 06
1 /jb\ Iji] ﬁR % I A A 2024. 06

PSR EEAR 1. 000-00000 0.0 0

|j<] 57%" gﬁ;%ﬁ%%

LR - Bk % BT s B KA T
SRR
= 1
B/ (1—p8)
%
— R
= 1
Bkl
&t




A EBICHITIRESEEN FBEEEN)

i F

Al =

BEEH

HEE%

Hat

FEITEE R

[0

b B

E B IE B 5T

H itz

BHRH

EWEDIER

YEEE

HEFDRET

EATEE, (K, BETERFDHRE
HIRIRG EE R DR E
FIREE DG

BN E
BARABFONE (Y HERET
T EPDEREFFDKE

1
=3

P

l
N
B
L

o X

O A

km




RNERSHE—F

R6ML AHEESR HE - MR ERELERES

Rt FIERED FEMA XEmB BEMC Xi&
BEREIEERET

ARETETEI R U T ETE] = 0.731 0.488 0.975 1.463
Rtk E = 0.325 0.325 0.65 0.325
T - HERTERE = 0.488 0.975 1.219 0.975 0.731
LIRS = 0.488 0.975 1.219 1.706
BRAEEEY - IMEEYERE = 0.488 0.731 0.975 0.975
AT = 0.975 1.463
HEFE = 0.488 0.731 1.706 1.95
RE = 0.244 0.731 0.975 1.463
WEEIER = 0.488 0.731 1.219 0.488




